Unit

06 3DEH®M ERT RBYT <=Ly,

3H A HollM L FAIL.




WA=k 84 T
Sl UL  £C3
pJ[= 1] = S
ﬂmazltrai%ﬁzé
XI5k Elct iﬂfFfﬂEl 25
Lj2|c} Y3

& AE
3Nl o 3D HDER




Unit 06




Unit 06

HLLLY ZFLy




Unit 06

F
ULy 2Ly
©F

HELLLT, &Y,




Unit 06

F
ULy 2Ly
©F

HELLLT, &Y,

BP3HLY

FLHT- B4,



Unit 06

F
HLILLY Z0Y
o

HELLLT, &Y,

D300
FLOHZ FAT

Bp3HLY

FLH . FAT



Unit 06

d ~5ta / sliA / sl




Unit 06

d ~5ta / sliA / sl




Unit 06

d ~5ta / sliA / sl




Unit 06

d ~5ta / sliA / sl




Unit 06

118
DL B o

.. 5wy S
El e
<) = UG






















QFLEST / BHLEA] / QR
Zlck2|ar / 7|Ck{A / 7]Che




O[T / BELEA / BEHLL
Zlck2]a / 7|Ck{ A / 7]Ch

SHE! LIT / BHEY LHA] / BHEd L




BH}T / BHEA / BHL)
JIck2|3 / 7ICkM / 7Ick
SHE! LT / BHEY LHA] / BHEd U

El12 / E}A / E}




Unit 06

115
R A = HHE
L

524
&
A<




Unit 06

135
R A = A
¥

5
&
&




Unit 06

125
&as il\s /Si R AJ-C:
L




Unit 06

S
\I
P4




Unit 06

125
&as il\s /Si R AJ-C:
L




Unit 06

1%
&as il\s /Si T AJ-G
L

=3/ S0IM / F0f




Unit 06

125
&as il\s /Si R AJ-C:
L

=2/ S0IM / Fof

OfA|Z / OFAMA] / OFM




Unit 06

1%
&as il\s /Si T AJ-G
L

=3/ S0IM / F0f
OfA|ZL / OFAM / OFM
213 / 2101Ad / giof




Unit 06

\s /Si o AJ-C:

=2/ S0IM / Fof
OFAISE / DRMA] / ORA
21 / 2lo1Ad / giof
=2/ 50IM / &0}




Unit 06




Unit 06




Unit 06




Unit 06




Unit 06

Saiz=n [ WA [ L




Unit 06

128
() = LTLVT)

=
< =C}
£( ML

BEO Gl Cy
k< SllMXICE




Unit 06

1=
() = b (e




Unit 06

1=
<€) = D




Unit 06

1=
() = b (L

3

i




Unit 06

1=
<€) = D

3

i




Unit 06

1=
() = b (L

& =1/ S0{M / S0f




Unit 06

1=
<€) = D

=1 [/ S0M / S0
220 [ MM [ M




Unit 06

1=
() = b (L

=l /
M /WM/W
ol x|l / sllHXAM / ollH*




Unit 06

128
() = LT

5 =7/ S0{M / S0

= A [ MM [ M

5 SISIXIT / SIIHAM / S
X< -




Unit 06

118
DD B

.05 77 Ae

El g
(€)= L@ tvg

Ly




Unit 06

~T Lf2aly  ~6ll =M




~T Lf2aly ~6ll EM2

T e




Unit 06

~1C Sl

H
59,




Unit 06

~T Lf2aly ~6ll EM2




Unit 06

~T <J=cby o

e

H
S




Unit 06

~T Lf2aly  ~6ll FEM2

S




Unit 06

~T Lf2aly  ~6ll =M

e

H
A
o

H
BLT <fzalby,




Unit 06

~T Lf2aly  ~6ll FEM2

o

H
RLT il

0. 07| 2M|.




Unit 06

~T Lf2aly  ~6ll =M

H
1S
59
H
1S
H o

H
BLT <fzalby,

LTI &, E2%F,




Unit 06

~T Lf2aly ~6ll T=EM2




Unit 06

~T L&y ~6l =M
%y 3




Unit 06

~T L&y ~6ll =M
%3

LH 2




Unit 06

~T Lf2aly ~6ll FEM2

)
EY 5
)

)




Unit 06

~T Lf2aly ~6ll T=EM2

)
EY 5
)

) o

A HollM L] FAMK.




Unit 06

~T L&Y~ EM2
%12
B

)

o

#HD & AE o] :
3DBH®M EBRT BRYT <{f==ly,




Unit 06

~T AL ~3] =M
&y 2,
H

)

Ho & AE o}s :
3DH® BRT BYT ==Ly,
, SHI HoIM LHZ FMK.




Unit 06

~T AL ~3] =M
& 2,
H

)

#HD ) AE B 5

3DBH®M EBRT BRYT <{f==ly,

=t Mg v Il 1)) AE ) i
3DHE® ERT YT <I=aLy,




Unit 06

~T L&Y~ FEM2
%12
B

)

#HD ) AE OB :

3DH®M ERT BRYT <f==ly,

B G A AE B 2
.3DB®M BRT.[BYT I3,

L, 3=LICt.




Unit 06

~T L&Y~ EM2
%12
B

)

HD 5) A o:r"a‘ 5
35D BT BYT <L,

VAT 1) AE o) 2
o 32D ERC.[BYT 50,
T bAYELE,







